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HaLr —YEARLY EXAM ACHARYA VIDYA KULA
HZEEF NOVEMBER 2018
SUBJECT: PHYSICS.
VII STANDARD MAX TIME: 1%, HOURS
MAX MARKS: 60
GENERAL INSTRUCTIONS:
Answer to this paper must be written on the paper provided separately.

Yot will not be allowed to write during the first 10 minutes. This time is to be spent in reading the
question paper.

The time given at the head of this paper is the time allowed for writing the answers.
Attempt all the questions from Section I and any three questions from Section IL.
SECTION: I
(ANSWER ALL THE QUESTIONS)
QUESTION: 1
a. Choose the correct answer: IX% =8 -
i. When a substance is heated its density:
A. Increases. B. Decreases C. Remain same D First increases and decreases.
ii. The density of brass in CGS system is 8.4g/cm:.& Its density in S.I system is:
A.8.4kg/m® B.84kg/riC. 840kg/n? D. (£p400kg/ m®
iii. The device used to measure density of liquid:
A. Physical balance B. Hydro meter C.Lacto meter D.Beam balance.
iv. The motion of a pendulum is an example of :
A. Rotatory Motion B. Circular Motion C. Ogillatory Motion. D. Linear motion.
v. Distance is a:
A. Scalar quantity ’B. “ector quantity C. Normal quantity D. None of these.
vi. The device that converts chemical energy into electrical energy is:
A.Dry cell B. Electric heater. C. Electric bulb D. Thermo couple.
vii. The Secondary colours are:

A. Red, blue, green B. Cyan, yellow, magenta C. Cyan, Yellow,Red. D. Yellow, Magenta, blue.
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viii. The effect of heat are:
A.Change in state. B. Change in dimension C. Change in Temperature D. All of these.

b. Find the mass of 2 létres of alcohol in Kg when density of alcohol is 0.8gkm

(Iml =g} [2]
QUESTION:Z
a.Fill in the blanks and rewrite the statements: 1x8=8
i. A physical balance is used to measure - . of an object.
ii. Equ;ll volumes of iron and aluminium have masses.

iii. The value of acceleration due to gravity is more at the

iv. The time'taken by the bob of a pendulum to complete oneoscillation is called its.
v. Rotation of earth is a motion.

vi. Water cycle is caused due to : enery Yy

vii. If the mass of a body is doubled, its potential energy willbe

viii. Combination of all three secondary colours gives

b. Rajdhani Express moves at a speed of 120 km/h. How long will it take to cover a distance of

15km ? 2]
QUESTION:3
a. Write true or false and rewrite the false statement correctly: 1x6=6

i. A running car has potential energy .

ii. The reflection of light from the wall of a room is regular reflection.

iii. An object appears white because it reflects all colours.

iv. Image formed in a periscope are laterally inverted.

v. The rate of change of displacement with time is called speed.

vi. Density of a body depends on its shape and size.

b. Choose the odd one out and write the proper reason. " 1x4=4
i. Kg/m’, g/m3 4 kg/crr% 1 kg,/m5

ii. Distance, Speed, Velocity, Average Speed.

iii. Diesel, petrol, Kerosene, Photocell.

iv. Kilogram, meter per second, metre, gram.
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SECTION:iI
(ANSWER ANY THREE QUESTION)
QUESTION:4
a. i. Show lmaof volume is equal to 1000 litres .
il. Name any two measuring vessel used to measure the capacity of liquid. [3]
b. i. “The Dehsity of silver is 10,500 kg/ma. Explain the statement.
ii. Explain why Iron sinks in water but ship made of Iron floats in sea water. [3]
c. Convert the following: (4l
i, 40cntinto
ii. 1nf in’Fo cm?
iii. 2.5¢/cne’ into kg / o
iv. 1 kit into hectaye.
QUESTION:5
a. i. Write any three differences between Distance and Displacement. [4]
ii. When can distance and displacement be same?
b. i. Name the Physical quantity which is referred as the attraction by the earth on the body.
ii. Why the above Physical quantity varies from place to place.
iii. State the S.I unit of the above physical quantity. [3]

¢.i. A train takes 2 hours to reach from station A to Station B and takes some time to return to
station A. Find the time taken if the average speed of the train is 80km/h and distance between
the two station is 200 km?.

ii. What is rolling motion? [E]
QUESTION:6
a. i. Name the Energy possessed by the body due to its motion?

ii. State the factor’s which affects the energy stated in{i) 3]
b. State the energy changes from the following devices. : [3]
i. Solar cooker ii. Toaster iii. Photo cell iv. Dynamo v. Electric bell vi. Micro phone.
¢. i. Explain energy chain with sun has main source of energy.

(‘)

ii. Explain work-energy relation with an example.

(4]
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QUESTION:7
a. i. State the law of reflection of light.
ii. Write any two characteristics of image formed by plane mirror. [3]

b. Name the device used to view an object from the position A and complete the diagram of the
device stated above drawing two rays. [3]

o h

o' . opaque -

¢. i. Name the colour that will be reflected when the following colours of light strikes on the
given surface and give reason for your answer.

Red - )

1 0
) Sa ‘S\ \ &
s & \ (ﬁﬁen Suvtat
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ii. A boy of 1.5m tall standing in front of the plane mirror at the distance of 2m. Find the height of
the image formed and the distance between the boy and his image?

iii. If the mirror is moved 1m away from the boy find the distance between the boy and his image

QUESTION:8
a. Write any three advantage of using mercury as a thermometric liquid. [3]
b. Convert: -40°into Kelvin and Fahrenheit [3]

c. i. A hammer of mass 2kg is raised to as height of 3m. What will be its potential energy ?
(g=10mf"
ii. State the principle of conservation of energy

iii. Why plane mirrors are used in solar cookers? [4]




